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1. For the circuit shown in Fig. 1, find the value of current ia and the power absorbed by the

dependent voltage source.
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2. In the circuit in Fig.2 the voltage and current expressions are
v=32e750Y,  i=8e7%m4, t>0

Find the time constant of this circuit and the values of R and C.
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3. In the circuit shown in Fig. 3, a load having an impedance of 120+j90(2 is fed from a voltage
source through a line having an impedance of 3+j4 (). The effective value of the source voltage
is 465V and source frequency is 60Hz.

(a) Calculate the average and reactive power delivered by the voltage source.
(b) Calculate the size of the capacitor in microfarads that when connected in parallel with the

load will make the load look purely resistive.
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4. If the switch in Fig, 4 has been closed for a long time before t = 0 but is opened at t = 0.
(a) Find the s-domain response I(s).
(b) Find the t-domain response i(t) for t > 0.
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5. A balanced A- connected three-phase load has an impedance of Zo = 85.5+j114Q)/¢ as in
Fig.5. The load is fed through a line having an impedance of Ziine = 1.5+j2.0(2/¢@. The phase

voltage at terminal of the source is Van = 250.20°V(rms). The phase sequence is positive.
(a) Calculate the line current lLaa.

(b) Calculate the load terminal voltage Vac.
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